MODELS HV303 & HV363

DOWNDRAFT BLOWER SYSTEM

READ AND SAVE THESE INSTRUCTIONS

A INTENDED FOR DOMESTIC COOKING ONLY A

WARNING

TO REDUCE THE RISK OF FIRE, ELECTRIC SHOCK, OR
INJURY TO PERSONS, OBSERVE THE FOLLOWING:

1. Usethis unitonly in the mannerintended by the manufacturer.
If you have questions, contact the manufacturer at the ad-
dress or telephone number in the warranty.

2. Before servicing or cleaning unit, switch power off at service
panel and lock the service disconnecting means to prevent
power from being switched on accidentally. When the service
disconnecting means cannot be locked, securely fasten a
prominent warning device, such as a tag, to the service panel.

3. Installation work and electrical wiring must be done by a
qualified person(s) in accordance with all applicable codes
and standards, including fire-rated construction codes and
standards.

4. Sufficient airis needed for proper combustion and exhausting
of gases through the flue (chimney) of fuel-burning equipment
to prevent backdrafting manufacturer's guideline and safety
standards such as those published by the National Fire
Protection Association (NFPA), and the American Society for
Heating, Refrigeration and Air Conditioning Engineers
(ASHRAE), and the local code authorities.

5. When cutting or drilling into wall or ceiling, do not damage
electrical wiring and other hidden utilities.

6. Do not use this range hood with an additional speed control
device.

7. Ducted fans must always be vented to the outdoors.

To reduce the risk of fire, use only metal ductwork.

9. Do not install this product with the activating switch directly
behind a burner or element. Minimum distance between the
switch and the edge of the burner should be 4 inches.

10. Loose-fitting or hanging clothing should never be worn when
operating this appliance. They may be ignited by burners/
elements on cooktop.

11.Children should not be left alone or unattended in the area
where this appliance is in use.

12.When flaming foods, turn the blower OFF. An operating
blower may spread the flames.

TO REDUCE THE RISK OF A RANGE TOP GREASE FIRE:

1. Neverleave surface units unattended at high settings. Boilovers
cause smoking and greasy spillovers that may ignite. Heat
oils slowly on low or medium settings.

2. Always turn hood ON when cooking at high heat or when
cooking flaming foods.

3. Clean ventilating fans frequently. Grease should not be
allowed to accumulate on fan or filter.

4. Use proper pan size. Always use cookware appropriate for
the size of the surface element.

TO REDUCE THE RISK OF INJURY TO PERSONS IN THE

EVENT OF A RANGE TOP GREASE FIRE, OBSERVE THE
FOLLOWING?:

©

WARNING

1. SMOTHER FLAMES with a close-fitting lid, cookie sheet,
or metal tray, then turn off the burner. BE CAREFUL TO
PREVENT BURNS. If the flames do not go out immedi
ately, EVACUATE AND CALL THE FIRE DEPARTMENT.

2. NEVER PICK UP A FLAMING PAN - You may be burned.

3. DO NOT USE WATER, including wet dishcloths or towels
- a violent steam explosion will result.

4. Use an extinguisher ONLY if:

A.You know you have a Class ABC extinguisher, and you
already know how to operate it.
B.The fire is small and contained in the area where it
started.
C. The fire department is being called.
D. You can fight the fire with your back to an exit.
@ Based on “Kitchen Firesafety Tips” published by NFPA.
13. This unit must be grounded.

CAUTION

For general ventilating use only. Do not use to exhaust
hazardous or explosive materials and vapors.

2. Toavoid motor bearing damage and noisy and/or unbalanced
impellers, keep drywall spray, construction dust, etc. off
power unit.

3. Clean filters and grease-laden surfaces frequently.

4. Do not repair or replace any part of this appliance unless
specifically recommended in this manual. All other servicing
should be done by a qualified technician.

5. Please read specification label on product for further informa-
tion and requirements.

PLANNING

This downdraft blower systemis o nTer CHIMNEY TOP
designed to be used to exhaust TOP

airborne contaminants when \ COOK\TOP j
cooking with a variety of gas or :

electric cooktops. It can be M\ / AR
mounted in island, peninsula, or GEAR e VENT
conventional wall locations. 4l MOTOR

. . o COVER
This unit can be easily installed
following these basic steps: A 4
e Cut out the countertop

opening. 120 VAC

s L{| .”GOUNDED

e Mount the unit in the E"/OUTLET

cabinet. |
e Connect the ductwork f

and electrical.

3-1/4" X 10"

e |Install the cooktop. DUCT CONNECTOR

INSTALLER: Save this manual for Electrical Inspector and Homeowner to use.
HOMEOWNER: Use and Care Information on Page 5.



PLANNING - (continued)

Note: The high level of air flow of this appliance may affectthe gas
flame on some types of gas cooktops. This is NORMAL and will
cause no harm, but can be corrected by lowering the speed of the
blower.

SPECIFICATIONS

VOLTS|AMPS [ CFM | DUCT
120 4.0 500 |3-1/4 X 10

TAKE MEASUREMENTS

1. Referto the cooktop installation instructions for dimensions of
cooktop, countertop cut-out, and cabinet requirements. The
Model HV303 will fit in most 30" wide cabinets and the Model
HV363 will fit in most 36" wide cabinets. However, it is
recommended that oversized cabinets be used for easier
installation.

2. Cooktop depth can vary greatly from one to another. This may
cause the fit of these two appliances to be rather tight.

COOKTOP

7/
DOWNDRAFT~]

< FRONT TO BACK
INSIDE CABINET DEPTH

NN
\

Pay special attention to the areas of potential interference high-
lighted above. A countertop with (A) a raised lip and/or (B) a
backsplash may not allow enough flat countertop for a proper
installation. Note that 2" of flat countertop is required behind
cooktop and that 1-3/4" is necessary between the back edge of
the cooktop and the inside of cabinet back.

PLAN THE DUCTWORK

RIGHT
— DISCHARGE

LEFT
DISCHARGE ~

DISCHARGE
(as shipped)

1. This downdraft blower system is designed for use with 3-1/4"
x 10" ductwork (can be transitioned to 6" round). Three
different discharge directions are available with side-to-side
adjustment for accurate alignment of ductwork.

2. For best performance: Choose the ducting option which
allows the shortest length of ductwork and a minimum number
of elbows and transitions. Check location of floor joists, wall
studs, electrical wiring or plumbing for possible interference.
NOTE: The unit is shipped with the 3-1/4" x 10" discharge
facing DOWN. See “CHANGING BLOWER DIRECTION” on
page 3, if necessary.

6" ROUND 3-1/4"X 10"
ELBOW TO 6" RD.
TRANSITION ]
" |EQUALS 2 .|

EQUALS 6 FT. OF FT.OF
STRAIGHT DUCT STRAIGHT DUCT

3-1/4" X 10"

900 ELBOW

EQUALS 8 /

FT.OF

STRAIGHT DUCT

3. The system will operate most efficiently when the ductwork
does not exceed 40 feet of equivalent duct. The chart, above,
shows equivalent feet of elbows and transitions. The number
of feet of straight duct plus the equivalent feet of transitions
and/or elbows to be used should equal 40 feet or less.

NOTE: The equivalent feet of various roof and wall caps has
been taken into consideration. Do not include them in this
calculation.

PLAN THE WIRING

1. The downdraft blower system draws 4 AMPS and requires a
120 VAC, 60 Hz circuit.

2. The unit has a 2 ft. long power cord with a 3-pronged plug.
Plan to provide a grounded outlet in a location which will allow
the unit’'s power cord to reach. (Note: If the Model HV303 is
being installed in a 30" wide cabinet or the Model HV363 is
being installed in a 36" wide cabinet, the outlet cannot be
located on the back wall of cabinet.) Outlet may also be wall-
mounted, with access hole in cabinet.



PREPARATION

CHANGING BLOWER DISCHARGE (Optional)

The blower is shipped with its discharge facing DOWN. Follow
these steps ONLY if:

e the position of the blower discharge needs to be moved
so ductwork does not interfere with floor joists, plumbing
or wiring below.

e it is necessary to rotate the blower discharge to the
RIGHT or LEFT.

Place the unit on its back on a table or work surface.

DOWN DISCHARGE - MOVING BLOWER LEFT OR RIGHT

SHEET
BLOWER METAL ~~y
NUTS \ SCREW

BOTTOM
1. Loosen the 4 nuts and 2 clamp channels. FLANGE

2. Slide blower to desired position.
3. Use supplied cover plate to close open space (if any).
4

. Tighten nuts to secure top of blower and use sheet metal
screws through bottom flange to secure bottom of blower.

LEFT OR RIGHT DISCHARGE

BLOWER

NUT
CLAMP — ‘E\
CHANNE[—]C

§
0

AN

COVER PLATE

1. Remove the 4 nuts and 2 clamp channels.

2. Carefully lift blower and disconnect motor plug if necessary.
Reposition blower and RECONNECT MOTOR PLUG.

3. Use supplied cover plate to close open space (if any).

4. Replace clamp channels and use nuts to secure the blower in
its new position.

5. Use sheet metal screws through bottom flange to secure
bottom of blower.

CUT COUNTERTOP OPENING

1. Layoutand cut the cooktop cut-out far enough FORWARD so
downdraft will fit behind it.

2. Set cooktop in place and slide it as far forward as possible.
Center and square it with edges of countertop.

3. Place the plastic template against the back flange of the
cooktop and center it. Trace around template to mark the
downdraft opening.

4. Remove cooktop from countertop.

5. Cut downdraft opening. Be careful not to chip edges of
countertop.

MOUNT THE UNIT

MOUNTING SCREWS

LEVELING BRACKET -
FLANGE FACING OUT

LEVELING BRACKET -
FLANGE FACING IN

1. Set downdraft into opening. Extend leveling brackets to floor
of cabinet so downdraft sits straight. (Note: Leveling brackets
can be removed and re-attached in other positions. Bottom
flange may have to face inward in tight cabinet installations.)

2. Secure the downdraft to the countertop as follows: Hold the
downdraft against the back of countertop cut-out and tighten-
ing the 2 mounting screws (one on each end of unit) on
underside of countertop. Use a wood shim between screw
and underside of granite countertops.

3. Screw leveling brackets to bottom of cabinet. Tighten screws
holding leveling bracket to unit on each side.



INSTALL DUCTWORK

CAUTION -BEFORE CUTTING HOLE IN CABINET FORDUCT-
WORK: Check for interference with floor joists, wall studs, elec-
trical wiring or plumbing.

. _ g

€ BLOWER =

3-1/4" X 10"
TO 6" RD.
TRANSITION

COLLAR

1. Cut hole in cabinet as well as holes in wall or floor as
necessary.

2. Mount the roof or wall cap and work back towards the cabinet,
attaching all ductwork, elbows and transitions as previously
planned. Tape all ductwork connections to make them secure
and air tight.

3. Connect ductwork (and transition, if required) to downdraft. If
necessary, LOOSEN nuts and screws that hold the blower in
place, and slide blower left or right to meet ductwork. Re-
tighten screws and nuts.

Note: A 3-1/4" x 10" collar is provided for installers who prefer to
rivet the ductwork to the unit. This will allow blower to be removed
and replaced easily in service situations without disturbing duct-
work.

INSTALL ELECTRICAL WIRING

1. Mount a standard wiring box, with 3-pronged receptacle,
inside the cabinet. Make sure the downdraft’s power cord can
easily reach it.

2. Run appropriate power cable into cabinet and connect it to
receptacle.

3. Plug the downdraft’'s power cord into the outlet.

WIRING DIAGRAM

120 VAC
LINE IN

WHT
GRN
BLK

YEL SWITCH
N.C.

A Bk
SWITCH
N.O.
YEL 'y
ORG N ORG
BLU
IBLU _ BLU
ORG > > BLK
YEL > > VEL SPEED S\:‘a;cu_L
RED > > BLK _J CONTROL -
3 YEL? ?BLU

INSTALL COOKTOP

1. Align the cooktop with the downdraft and fasten cooktop in
place.

Note: Accurate alignment of cooktop and downdraft is necessary
to ensure that there is no interference when air vent is raised and
lowered. There should be a gap of 1/32"-1/16" between the back
of the cooktop and the front of the downdraft cover.

ADJUSTMENT

The downdraft is factory-adjusted for proper operation. However,
shipping and handling may affect the position of the activating
switch.

To adjust position of activating switch:

WARNING: To avoid possible electrical
shock, personal injury or death -
Disconnect electrical power.

1. If downdraft is plugged into electrical outlet, unplug it.

2. Lift air vent straight up and cock it slightly so it remains in the
UP position.

SWITCH
MEMBRANE

SCREWS

SWITCH
COVER

SWITCH
BRACKET

3. Remove switch cover from right end of air vent.

4. Loosen the 2 screws holding the switch bracket in place.
Position switch bracket so that activating switch just comes in
contact with underside of switch membrane. Tighten screws.

5. Replace switch cover, gently lower air vent into chimney, and
plug in power cord. Re-connect electrical power and check
operation.



USE AND CARE

Always turn the downdraft blower on before you begin cooking to
establish an air flow in the kitchen. Let the blower run for a few
minutes to clean the air after you turn the cooktop off. This will
keep the whole kitchen cleaner and brighter.

CONTROLS

Turn the downdraft blower ON by pressing down on the activating
switch. The air vent will rise.

KNOB

The blower can be turned ON or OFF and its speed can be
adjusted with the recessed knob on the right side of the air vent.

Turn the downdraft bIowéF OFF by pressing the activating switch
again. The air vent will go down and the blower will shut OFF.

Note: For most convenient operation, set the blower to your
favorite speed. The blower will come on to this speed whenever
the activating switch is pressed and the air vent rises.

USE AND CARE - (continued)

CLEANING

WARNING: Always disconnect electric

power supply before cleaning unit.

Use a mild detergent suitable for painted surfaces. DO NOT USE
ABRASIVE CLOTH, STEEL WOOL PADS, OR SCOURING
POWDERS. Vacuum blower to clean. Do not immerse blower in
water.

Wash the 2 aluminum grease filters in a mild detergent solution
or a dishwasher. Remove them from the air vent by grasping the
tab at the top of each filter.

Note: The filters are different sizes. Be sure to replace them as
removed, (wider one on the left), with tabs UP.

SERVICING

WARNING: Always disconnect electric
power supply before servicing unit.

It may be necessary to remove the downdraft blower system from
the cabinet in order to service components such as the blower
motor or air vent mechanism.

Disconnect power to the cooktop and remove it first. Reverse the
steps under “MOUNT THE UNIT” to remove the downdraft from
the cabinet.

Service parts are available from your local Maycor distributor or
form Maycor Parts& Service, 240 Edwards Street S.E., Cleve-
land, Tennessee 37311. Phone: (615) 472-3500.



SERVICE PARTS

Models HV303 & HV363
Downdraft Blower Systems

DESCRIPTION

QTY.

KEY NO. | PART NUMBER
1 93400038
2 99400061
3 99400024
4 93470012
5 97011238
6 97010714
7 99260491
8 99360165
9 99100484

10 97009972
11 97011293
12 97010993
16 98007642
17 98007780
18 98008168
19 97011325

97011326
20 99080362
21 99020247
22 98008167
23 99710032
24 97011379
25 97011380
26 97011449

97011450
28 97010991
29 97011443
30 97010994

97010992
31 98008150
32 98008157
33 97009786

97009787
45 99090905
46 99080295
47 99110850
49 99150245
50 99150471
51 99150491
52 99150488
53 98008158

98008185
54 99260488
55 98008144

98008169
56 97011500
57 98008159
58 99150536
59 99250927
60 99160225
61 99160356
62 99160361
64 99260437
65 99260477
66 99380633
67 99400048
68 93260447
70 98008415
71 93270493
73 99271000
74 99160382
75 99150415
84 99100503

99100504
** 97011311
* 97011320
* 97011321

Bushing, 7/8"

Bushing, Split Heyco, 5/8"

Bushing, Heyco, 1/2"

Roller

Switch Assembly, Up/Down

Wire Harness, Speed Control

Nut, 3/8-32

Knob

Motor Isolator

Lower Switch Bracket Assembly

Green Ground Wire

Wire Harness

Back-up Plate

Crank

Switch Cover

Chimney Assembly with Slide (Model HV303)
Chimney Assembly with Slide (Model HV363)
Motor (with Capacitor-Key No. 73)

Blower Wheel

Scroll Box Extension

Spacer

Top Bracket Assembly, Right

Top Bracket Assembly, Left

Top, Black (Model HV303)

Top, Black (Model HV363)

Scroll Box Assembly

Gear Motor Cover

Air Box Assembly (Model HV303)

Air Box Assembly (Model HV363)

Scroll Box Cover

Capacitor Strap

Filter Kit (Model HV303) (contains 2 filters)
Filter Kit (Model HV363) (contains 2 filters)
End Cap

Gearmotor

Slide Strip

Screw, #8-18 x .375 SLT HX WS HD
Screw, #10-32 x .500 HX WS BDRH
Screw, #8-18 x .375 SR PH TRH

Screw, #8-18 x .500 No. 5 PH Trim

Cover, Air Box Opening (Model HV303)
Cover, Air Box Opening (Model HV363)
Nut, 10-24

Air Box Cover (Model HV303)

Air Box Cover (Model HV363)

Gearmotor Bracket Assembly

Leg Support

Screw, 1/4-20 x 5/16

Washer, 1/4

Screw, #8-32 x 1/2 PH HD MS

Screw, #10-24 x 3/8 SH WH LOCK

Screw, #10-24 x 3/8 PH FL HD LD

Nut, 10-24 HEX KEPS

Nut, 1/4-20 WHIZ LOCK

U-Bolt, 10-24

Strain Relief

Nut, Hex Flange

Wire Channel Clamp

Wire Tie

Capacitor

Screw, 1/4-20 x 1.250 Hex. Hd.

#8-18 x .250 PH TR HD BPT

Foam Seal (30")

Foam Seal (36")

Blower Assembly, Complete (Includes Key Nos.
2,9, 20, 21, 22, 28, 31, 32, 49, 58, 64

65, & 73)

Chimney Assembly, Complete (Model HV303)
(Includes Key Nos. 5, 8, 19, 45, 51, 52, & 71)
Chimney Assembly, Complete (Model HV363)
(Includes Key Nos. 5, 8, 19, 45, 51, 52, & 71)

—_

_x_.(,oNAQ;r\;_x_._xm\,_x_.4;[\301r\;_._x_.4;_._xmamgo,l;_._._x_._x_._x_x_._x_._x_._.w_._x_._x_x_._x_._x_._.m_._x_._._x_._x_.

OPTIONAL DOOR KITS
MODEL NO. | DESCRIPTION
WC303 30" White
WC363 36" White

* Standard Hardware - May be purchased locally.
** Service Assembly - Contains numerous parts




SERVICE PARTS

Models HV303 & HV363

Downdraft Blower Systems




&

Warranty

Limited One Year Warranty -
Parts and Labor

For one (1) Year from the original retail purchase
date, any part that fails in normal home use will be
repaired or replaced free of charge.

Canadian Residents

The above warranties only cover an appliance
installed in Canada that has been certified or list-
ed by appropriate test agencies for a compliance
to a National Standard of Canada unless the
appliance was brought into Canada due to trans-
fer of residence from the United States to Canada.

The specific warranties expressed above are the
ONLY warranties provided by the manufacturer.
These warranties give you specific legal rights, and
you may also have other rights which vary from
state to state.

CUSTOMER'S SOLE AND EXCLUSIVE
REMEDY UNDER THIS LIMITED WARRANTY
SHALL BE PRODUCT REPAIR AS PROVIDED
HEREIN. IMPLIED WARRANTIES, INCLUDING
WARRANTIES OF MERCHANTABILITY OR
FITNESS FOR A PARTICULAR PURPOSE, ARE
LIMITED TO ONE YEAR OR THE SHORTEST
PERIOD ALLOWED BY LAW. MAYTAG
CORPORATION SHALL NOT BE LIABLE FOR
INCIDENTAL OR CONSEQUENTIAL
DAMAGES. SOME STATES AND PROVINCES
DO NOT ALLOW THE EXCLUSION OR
LIMITATION OF INCIDENTAL OR
CONSEQUENTIAL DAMAGES, OR
LIMITATIONS ON THE DURATION OF
IMPLIED WARRANTIES OF
MERCHANTABILITY OR FITNESS, SO THESE
EXCLUSIONS OR LIMITATIONS MAY NOT
APPLY TO YOU. THIS WARRANTY GIVES YOU
SPECIFIC LEGAL RIGHTS AND YOU MAY
ALSO HAVE OTHER RIGHTS, WHICH VARY
STATE TO STATE OR PROVINCE TO
PROVINCE.

Warranty & Service

What is Not Covered By These Warranties

1. Conditions and damages resulting from any of the following:
a. Improper installation, delivery, or maintenance.
b. Any repair, modification, alteration, or adjustment not
authorized by the manufacturer or an authorized servicer.
c. Misuse, abuse, accidents, unreasonable use, or acts of God.
d. Incorrect electric current, voltage, electrical and/or gas supply.
e. Improper setting of any control.

2. Warranties are void if the original serial numbers have been removed,
altered or cannot be readily determined.

3. Light bulbs, water filters and air filters.
4. Products purchased for commercial or industrial use.

5. The cost of service or service call to:
a. Correct installation errors. For products requiring ventilation, rigid
metal ducting must be used.
b. Instruct the user on the proper use of the product.
c. Transport the appliance to and from the servicer.

6. Any food loss due to refrigerator or freezer product failures.

7. Expenses for travel and transportation for product service in remote
locations.

8. Outside of the United States and Canada this warranty does not apply.
Contact your dealer to determine if another warranty applies.

9. Consequential or incidental damages sustained by any person as a
result of any breach of these warranties. Some states do not allow the
exclusion or limitation of consequential or incidental damages, so the
above exclusion may not apply.

If You Need Service
First see the Troubleshooting section in your Use and Care Guide or call the
dealer from whom your appliance was purchased or call Maytag Services,
LLC, Customer Assistance at 1-800-688-9900 USA and 1-800-688-2002
Canada to locate an authorized servicer.

* Be sure to retain proof of purchase to verify warranty status. Refer to WAR-

RANTY for further information on owner's responsibilities for warranty
service.

+ If the dealer or service company cannot resolve the problem, write to

Maytag Services LLC, Attn: CAIR® Center, P.O. Box 2370, Cleveland, TN
37320-2370, or call 1-800-688-9900 U.S.A. and 1-800-688-2002
Canada. U.S. customers using TTY for deaf, hearing impaired or speech
impaired, call 1-800-688-2080.

+ User's guides, service manuals and parts information are available from

Maytag Services LLC, Customer Assistance.

Notes: When contacting about a service problem, please include
. Your name, address and telephone number.

b. Model number and serial number.

c. Name and address of your dealer or servicer.

d

e

o]

. A clear description of the problem you are having.
. Proof of purchase (sales receipt).

99041985L




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


